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(1) E == E+E|E*E|(E)]id
(2) 8 == if ( E ) S
|[if ( E ) S else S
| Statement
(3) Statement := Block

| Identifier : Statement

| if ParExpression Statement [ else Statement]
| while ParExpression Statement

| return [Expression] ;
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Problem 1 Fill in the following blanks (1) —( 3).
Problem 2 Describe the expression below in the post-fix form.
Problem 3 Describe the following EBNFs in syntax diagrams, respectively.
Problem 4 Answer the questions (1) and (2) about the regular expression below.
(1) List up all sequences of letters with their string length 1.
(2) List up all sequences of letters with their string length 3.
Problem 5 Answer the questions (1)-(5) about a snippet of a grammar on the right.
(1) List up all nonterminal symbols in the grammar G.
(2) List up all terminal symbols in the grammar G.
(3) Which is the start symbol of this grammar G.
(4) Describe the set First of all nonterminal symbols, respectively.
(5) Describe the set Follow of all terminal symbols, respectively.
Problem 6 Explain a raison d'étre (reason of existing) of compiler in your own words.

Problem 7 Pick up any one single academic term on language processors, and describe what
you know about it.



